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A A A A =] A % A %
o 54 61 56 1 4 25 5 20.0 4 80.0
' A 9 6 0 1 9 9 3 33.3 3 100.0
£ H i 4 0 0 3 3 1 33.3 0 0.0
Fii 4 11 0 1 1 1 0 0.0 0 0.0
# M 3 2 0 1 3 3 1 33.3 1 100.0
gk H 3 0 0 0 1 1 0 0.0 0 0.0
X & 1 1 0 0 0 0 0 0.0 0 0.0
/NN 12 12 0 1 2 2 0 0.0 0 0.0
X H 2 3 0 0 2 2 0 0.0 0 0.0
£ % 5 4 1 0 0 0 0 0.0 0 0.0
i 15 2 0 0 0 0 0 0 0.0 0 0.0
ey adiil 13 13 0 0 4 4 0 0.0 0 0.0
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A A % A % A % A %
o4 6 0 0.0 0 0.0 6 33.3 3 50.0
' A 0 0 0.0 0 0.0 5 1 20.0 0 0.0
£ H 0 0 0.0 0 0.0 1 0 0.0 0 0.0
Fii 1 0 0.0 0 0.0 1 0 0.0 0 0.0
# B 0 0 0.0 0 0.0 2 1 50.0 1 100.0
gk H 0 0 0.0 0 0.0 1 0 0.0 0 0.0
X B 1 0 0.0 0 0.0 1 0 0.0 0 0.0
/NN 1 0 0.0 0 0.0 3 1 33.3 0 0.0
X H 0 0 0.0 0 0.0 0 0 0.0 0 0.0
£ % 2 0 0.0 0 0.0 3 2 66. 7 1 50.0
i 15 0 0 0.0 0 0.0 0 0 0.0 0 0.0
EFH 1 0 0.0 0 0.0 1 1 100. 0 1 100. 0
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s 1,290 1,000 1,954 8 8 602 1,587
' A 670 668 1,075 - - 2 868
£ H 90 61 98 - - 105 109
;OEh 43 40 76 - - 24 2
# 22 7 1 - - 21 157
R H 36 9 12 - - 52 27
X B 104 48 107 - - 100 157
L/NIV:N 64 8 14 - - 112 20
K HT 64 37 425 8 8 36 34
®E % 115 98 102 - - 40 39
i & 41 9 1 - - 49 63
s adiil 41 15 21 - - 61 87
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